Lattice Multiplication

Use lattice multiplication to find each product.

9 9 9 1 4 7 6 6 2
5 1 6
9 2 6
7 5 1
999 x 597 = 147 x 125 = 662 x 661 =
5 6 6 3 5 4 5 7 8
3 3 4
3 6 0
0 2 7
566 x 330 = 354 x 362 = 578 x 407 =
3 8 4 8 8 7 6 6 4
2 6 6
1 6 1
0 0 7
384 x 210 = 887 x 660 = 664 x 617 =
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Lattice Multiplication Answers

Use lattice multiplication to find each product.

9 9 9 14 7 6 6 2
2 5 A4 s 010 10 4 3 T3 10 7 6
s, 55,/ 5 o, 1, 47 4 6/ 6, 2
8§ 8 18 g 0 10 A1 7 5 3 131 7 6
o, 1,/ 1/ 1 1, 2 8/ 4 3, 6/ 6, 2
6 /16 /16 /1 - 0123 /] s 0 10 710 14
6, 3/ 3, 3 8, 5,/ 0,/ 5 1/ 6/ 6 2
40 3 3 7 5 5 8 2

5 6 6 3005 4 5 7 8
LT A 0 T 1 5 2 12 13 4
1" 5,8,/ 8 1,9 5/ 2 o 0/ 8 2
AT AT 5 L3 2 6 0 10 /10 7 ¢
8, 5,/ 8, 8 2, 8,/ 0/ 4 3,0 0/ 0
0 10 /10 4 0 1 0 7, 3 4 5 A 4
6, 0/ 0/ 0 8, 6,/ 0/ 8 s, s, 9 6
7 8 0 I 4 8 2 4 6

566 x 330 = 186,780 354 x 362 = 128,148 578 x 407 = 235,246

3 8 4 8 8 7 6 6 4

0 1 0 ) 4 4 4 6 3 3 2 6
0 6 6 8 5 8 8 2 4 6 6 4

0 0 0 1 4 4 4 6 0 0 0 1
8 3 8 4 8 8 8 2 0 6 6 4

0 0 0 0 0 0 0 0 4 4 2 7
0 0 0 0 5 0 0 0 9 2 2 8

6 4 0 4 2 0 6 8 8

384 x 210 = 80,640 887 x 660 = 585,420 664 x 617 = 409,688
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